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Question 1   Primary 1 Math » Primary 1 Math (Term 3) 1 pt

Section A: (2 x 1 mark)


Choose the correct answer.


5 twos is the same as _______.


A) 2 fives

B) 2 + 2 + 2 + 2 + 2

C) 2 groups of 5

D) 5 + 5
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Question 2   Primary 1 Math » Primary 1 Math (Term 3) 1 pt

Reena wants to put 20 teddy bears into 4 bags.

How many teddy bears are there in each bag?
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A) 10

B) 2

C) 5

D) 4
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Question 3   Primary 1 Math » Primary 1 Math (Term 3) 2 pts

Section B: (Total 8 marks)


Look at the picture below and choose a related multiplication equation.


A) 2 x 5 = 10

B) 1 x 3 = 3

C) 3 x 4 = 12

D) 4 x 4 = 16
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Question 4   Primary 1 Math » Primary 1 Math (Term 3) 2 pts

Johnson has 15 marbles. He puts them equally into 5 boxes.

How many marbles are there in each box?
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There are _______ marbles in each box?

Accepted answers:

3

3 marbles

three

three marbles
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Question 5   Primary 1 Math » Primary 1 Math (Term 3) 2 pts

3 + 3 + 3 + 6 = _____ x 3

Accepted answers:

5
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Question 6   Primary 1 Math » Primary 1 Math (Term 3) 2 pts

Sally has 5 lollipops. Her mother gives her 7 more lollipops.

She puts all her lollipops equally into 3 jars.


There are _______ lollipops in each jar.
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Accepted answers:

4

4 lollipops

four

four lollipops
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Question 7   Primary 1 Math » Primary 1 Math (Term 3) 2 pts

Section C: (Total 5 marks)


Read the questions carefully.


Aunty Lucy has 6 dresses.

There are 4 buttons on each dress.

How many buttons are there altogether?


There are ______ buttons altogether.

Accepted answers:

24

24 buttons

twenty-four

twenty four

twenty-four buttons

twenty four buttons
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Question 8   Primary 1 Math » Primary 1 Math (Term 3) 1 pt
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Mrs Ang has 10 balloons for her children.

4 balloons burst.


a) There are ______ balloons left.

Accepted answers:

6

6 balloons

six balloons

six
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Question 9   Primary 1 Math » Primary 1 Math (Term 3) 2 pts

Mrs Ang has 10 balloons for her children.

4 balloons burst.


b) With the balloons left, each child received 2 balloons.

How many children are there?


There are ______ children.

Accepted answers:

3

3 children

three children
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three
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